B2 T B (T~ 105

2%

)OFH LR ISEEETO2ER0E SRRV THER)

19

7

19

59

504

-

[ 19 59 504
| 19 4 5 1,90 1,000
1
[ ] 14
| |
| |
] N
. 1,000 19 687 . 18
700 = @20 700 ™ @k 629 o 19 142 . 19 6 2
| @H19 o H19 569
600 O H18 510 5;% 600 oHis 504 65 gg =
500 - OH17 445 65 65 500 O Hi7 n
O H16 365 O H16 405 99 99 99 . 19 4 =
400 1 mus 300 50 | |80 B0 400 1 s 30 [85 | [85 | [85 |85
s00 | mH 65 65 65 65 200 B4 o ¢ 55 35 - 20 . 18
210 90 | | 90 90 || 90 || 90 88 || 88 88 | | 88 || 88 N o o o
200 130 [H80n] [T [T80 80 | [ 80 | [80 200 1144 88 || 88 | | 88 88 || 88 | | 88 .
100 | 130| 130 | [ 130| | 130 | | 130 | | 130 | | 130 10 1 144 | | 144 | | 144 | | 144 | | 144 | | 144 | | 144 "
0 : : 0 - - - - - - E 19 10 180 o ()
H15 H16 H17 H18 H19 H20 H21 H15 H16 H17 H18 H19 H20 H21
19 19
180 166 OH19 165
150
160 145 OH19
140
FASI :
() so [ 10 63 *
18 o0 - 2
40 30 21
19 ’ .
[ ) [ )
n n
[} [] [}
n 12 18 1,238(2,153-915)
. .
18 .
19 .
[ )
[ )
[)
(
[ )
( ] 19 (4 120 08 )
H19 n
( ] ( 3.110 60 ) . T
( ] ( 107 1 ) ¢
[ )
H18 {[ I 18 |:> [ ] 19 10
[ )
( J

~




